
 

! !"#$%", &'()*&'(+' %+$,-++. ./"0 #'&+' %$ 12(3-./"0 (*)245"6"0 %+$-
,-+3 %6'++"0, 7* (* +"0 +$8-9$53, +$%"&$:53 !"!"#$" %&'$()(.  

! ;'&+'453, ./$ &"/*+2<534. %$ 12(3-./"0 (*)245"6"0 %+$,-+3 %6'++"0, 7* 
(* +-= +$8-9$53, +$%"&$:53 !"!"#$&*!+.  

! ,*$"'$- '.-*!('&*!/ %-0&"$-./$"1" 2%"34: 
./7* ,"4-83+"/ ' %+$6-++"/ #$>'*+$83+*?* (#*12 )*6+*9"5" +$ *("+ 
' 5*@ 4$6"@ +-+283*&"@ 6+*?*,8-+, 5* *5#"6$<6* (#'1, 5*5*9+* #'&+"@ 
($+*62.  

 

! 56"%"78$$9 2%"34: . 

! A/7* %6'+"5" %+$/ 2 ,"4-83+"/2 ($1* %+$6-++"/2) (#*12 *(+*,$4+* %' 
%+$/*6 )-#-( (#*1*6, 5* *(-#9"6* (#'1, 5*5*9+* #'&+"@ ($+*62.   

 

 

 

:%-6!(7$& ;-'2-$$9 

<-'2-$$9 1 
=";6.-2&!/ 7(*8./$(6 & ;$-)8$$(6 2%"34 $- )$"#$(6( !- *6"%"!&!/ >"1": 
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Основна властивість раціонального дробу

ВСЕУКРАЇНСЬКА ШКОЛА ОНЛАЙН 1

8 клас

АЛГЕБРА



<-'2-$$9 2 

<'82&!/ 2%&3    2" ;$-)8$$(6-  

 

 

<-'2-$$9 3 
<'82&!/ 2%"3( 2" *?&./$"1" ;$-)8$$(6-: 

1)  

B)'83+"@ %+$6-++"/:  

 

 

2)  

;*%/8$('6* %+$6-++"/" +$ 6+*9+"/": 

. 

B)'83+"@ %+$6-++"/:  
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